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Berechne mit Hilfe der Tabelle.

		a) 6230 € sind 70% von ?		b) 4860 m² sind 9% von ?

	%
	€
	
	%
	m²

	70
	6230
	
	9
	4860

	10
	890
	
	1
	540

	100
	8900
	
	100
	54000



		c) 450 g sind 6% von ?		d) 106 m² sind 20% von ?

	%
	g
	
	%
	m²

	6
	450
	
	20
	106

	1
	75
	
	10
	53

	100
	7500
	
	100
	530



[bookmark: _GoBack]		e)	2560 € sind 80% von ? 	f) 480 m² sind 20% von ?

	%
	€
	
	%
	m²

	80
	2560
	
	20
	480

	10
	32
	
	10
	240

	100
	320
	
	100
	2400



		g) 	51 g sind 3% von ?		h) 134 m² sind 20% von ?
	%
	g
	
	%
	m²

	3
	51
	
	20
	134

	1
	17
	
	10
	67

	100
	1700
	
	100
	670
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